ANTALNVUIY

(2 + 8¢+ 8)(3x + 1)

(9+ 3x)(6x+ 2)

(8% + 2)(9x + 8)

(8% — Tx—T)(6x+ 7)

2— 4P (x+7)

Jun:

(8x— D& —x— 1)

(2x* — T)(3x + 6)

(% + 20+ 2)(2x + 4)

(Gx+ 6)(2x* — Tx—7)

(4x* — 5x— 5)(2x + 1)
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llless [§ 77 T

%ia:

(2% + 8x + 8)(3x+ 1)
6x° + 26x% + 32x+ 8

(9+ 3x)(6x+ 2)
18x> + 60x + 18

(8x% + 2)(9x + 8)
72 + 64x* + 18x + 16

(8x% — Tx— T)(6x + 7)
485 + 14x% — 91x — 49

2- 4P (x+7)
—4x® — 287 + 2x + 14

Jun:

(8x— 1)(&* —x— 1)
64x> — 163> — Tx + 1

(2% — 7)(3x + 6)
6x° + 126° — 21x— 42

(0 + 2+ 2)(2x + 4)
20 + 8% + 12x+ 8

(Bx+ 6)(2* — Tx—7)
6x° — 9% — 63x — 42

(4> — 5x—5)2x + 1)
8 — 6> —15x— 5
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